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6.79 x 60% =

8.24 x 40% =

0.34 x 30% =

8.32 x 10% =

8.62 X 20% =

5.93 x30% =

7.73 x 10% =

9.88 x 50% =

5.32 x50% =

6.79 x 70% =

2.69 x 20% =

7.96 x 80% =

0.02 x 90% =

6.3 x 80% =

8.89 x 70% =

3.94 x 60% =

0.2 x90% =

0.16 x 80% =

3.32 x 10% =

2.65 x30% =
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6.79 x 60% = 4.074

8.24 x 40% = 3.296

0.34 x 30% = 0.102

8.32 x 10% = 0.832

8.62 x20% = 1.724

5.93 x30% = 1.779

7.73 x 10% = 0.773

9.88 x 50% = 4.94

5.32 x50% = 2.66

6.79 x 70% = 4.753

2.69 x20% = 0.538

7.96 x 80% = 6.368

0.02 x90% = 0.018

6.3 x 80% = 5.04

8.89 x70% = 6.223

3.94 x 60% = 2.364

0.2 x90% = 0.18

0.16 x 80% = 0.128

3.32 x 10% = 0.332

2.65 x 30% = 0.795
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